OCOoONOOOTEWN — |

N — — el el el e
oOwWwoo~NOOOIThhWN—-O

NN N
wn —

Item Description Available in Stock # #  Item Description Available in Stock # #  Iltem Description Available in Stock # #  ltem Description Available in Stock #
H

ChassSiS......cccoeereerereereresee e DIDC1028 24 M370 MotOr......coeveveecce e, DIDC1030 47  Ball Cup (Short)......ccceevveiiceeee, DIDC1042 ARDWARE
Lower Gearbox Half............cocoreerrurennc. DIDC1006 25 Motor Mount .........ccveeeueeeereirneenceeene DIDC1031 48 Steering Rod.........cooovvviniiiniiins DIDC1042 A Gx10mm Ball BEaring.............coooeevveeee. DIDC1070
Upper Gearbox Half.........cccvvveesneen DIDC1006 26  Spur Gear COVer..........coevveeeeerrereereenen. DIDC1027 49 gervo gaver iphne ------------------------------- 8:881011 B 8x12mm Ball Bearing...........o.... DIDC1071
Upper Chassis Brace .............vvvresvven DIDC1021 27 45T00th Spur Gear .........ccccvsvvvrrrree DIDC1005 ~ 90  Servo SaverArm...........cocneeeen: 1011« o amm Round Head Screw ... DIDC1057
RE-18 Receiver/ESC Unit..................... DIDM1000 28 15 Tooth Differential Pinion Gear .......... DIDC1003 51  Servo Saver SPring ...........ccccovnneeess DIDCTOTT = o Round head S DIDC1057
SEIVO v erseeeerseer e DIDM1001 29 Center DFive Shaft...............covn. DIDC1007 ~ 52 SErvo Saver Cap ............wwmvrierses DIDC101 e i Head Sorovs DIDC1087
SNOCK TOWET w.vvvvveeeeeeeeeeeseeeeeennnene DIDC1054 30 38T Differential Ring Gear.. DIDC1003, DIDC1061 93 Upper Shock Mount.....ccceeeeeescccccnnon DIDG1029 X19mm nound riead Screw...............
BOGY MOUNT e DIDC1054 31  Differential Case ............... DIDC1004, DIDC1061 99 SNOCKBOUY..ooiciiiiiiii DIDC1016 G 2x8mm Flat Head Screw................. DIDC1057
Front Hinge Pin Holder «............ooooro..... DIDC1024 32  Diff Bevel Gear (Small ....... DIDC1002, DIDC1061 gg gnoct gﬁp{t ------------------------------------------ B:Bg}g}g H  2x10mm Flat Head Screw.................... DIDC1057
Rear Hinge Pin Holder ........covvcvvvvees DIDC1024 33  Diff Bevel Gear (Large)...... DIDC1002, DIDC1061 ¢ Shggk Segl R DIDCI016 J 2x14mm Flat Head Screw................... DIDC1057
Battery Hold DOWN ..., DIDG1026 34 2x16.5mm Pin (Diff Gear Pin)..DIDC1037, DIDCI061 g g pa i e Dboiote K 25xBmm Flat Head SCrew.......v.. DIDC1057
Front Battery Post .............. DIDC1028, DIDC1063 35 Dogbone Spring ................. DIDC1002, DIDC1062 61 Shook Piston ... DIDC1016 L  2.5x8mm Socket Head Cap Screw ....... DIDC1057
SUSpPension ArM.......cccceeeeveeeeeverieennns DIDC1018 36 DOghone ......ccccvveveeerece e DIDC1009 62  Shock O-Ringi """""""""""""""""""""" DIDC1016 M 2.5x14mm Socket Head Cap Screw .....DIDC1057
Front Hub Carrier .........ccccoeevevevevennee. DIDC1012 37  2x5mm O-Ring ........cocoe.... DIDC1008, DIDC1062 63  Shock ORlngSpacerDIDC1016 N  3xémm Socket Head Cap Screw.......... DIDC1057
Steering KnuckIe........ccooevveeeeeeieeeennns DIDC1013 38 Axle ORI ST RN RN RS DIDC1008 64 Upper Shock Sprlng Retainer ... DIDC1016 P 2x8mm Round Head Shoulder Screw ...DIDC1057
gegg |-5|L|;$mPn(Inneange) ----------------- B:gg] 8;2 28 éﬂ SPj["'(;)" Gear (.6 Mod, 2mm Shaﬂ)...g:gg} 32421 65 Lower Shock Spring Retainer ............... DIDC1016  Q  3X3MM Set SCreW ......vvreeeeeeerererens DIDC1057
X90. | [L110[=) . 1 66  ShOCK BN DIDC1016 R 3mm Nylon-Insert Lock Nut DIDC1001, DIDC1057
2x22mm Pin (Outer Hinge, Steering) ....DIDC1036 41 Ball Cup (LONG).....cvverrererecrrreeicrreenees DIDC1042 68 Long Shock Spring (Heavy/Orange)...... DIDC1040 S 2.6x5m¥n Washer... DIDC1057
Front BUmper........ccoooveveeeceeeeeeeee DIDC1052 42  Camber Rod.........cccoevvvvvreveeeerecresienns DIDC1042 69 Shock Pre-Load Spacer Tmm............... DIDC1016 T 3x6mm Washer DIDC1057
Front Bumper Brace........ccccocevevveenene DIDC1052 43 TieRod....ccooviviieeece e DIDC1042 69 Shock Pre-Load Spacer 2mm............... DIDC1016 U 15mmE-Clo.. ... DIDC1057
REAr BUMPET......ooccoreoorerererersre DIDC1053 44  Steering Bell Crank (Right).............. DIDC1010 69  Shock Pre-Load Spacer 4mm.............. DIDC1016 MM EZD. v
Rear BUMPEr Brace..........coovvvvevvernenees DIDC1053 45  Steering Ball Crank (Left) .................... DIDC1010 70 Wheel/Tire/Foam Insert Assembled ......DIDC1056 ~ V  Body Clip (Smal)............... DIDC1000, DIDC1057
MUA FIAP.... e DIDC1055 46  Steering Drag LinK ...........coovvveerreen DIDC1010 71 Rear Battery Post............... DIDC1028,DIDC1063 X 2x6mm S/T Round Head Screw............ DIDC1057



